

$$\log_n^m = a \rightarrow \log_m^n = \frac{1}{a} \Rightarrow \log_m^n + \log_m^m = \log_m^{mn} = \frac{1}{a} + 1 \rightarrow \log_m^{mn} = \frac{a+1}{a} \rightarrow \log_{mn}^m = \frac{a}{a+1}$$

$$\log_{mn}^{mn} = \log_{mn}^m + \log_{mn}^{mn} = b \rightarrow \frac{a}{a+1} + 1 = b \rightarrow \left[\frac{a}{a+1}\right] + 1 = 1 = [b]$$

و) $y = \sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$ ~~$\sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$~~ ~~$\sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$~~ ~~$\sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$~~ ~~$\sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$~~

$\hookrightarrow \log_{\frac{1}{r}} x > 0 \quad x > 0 \quad \log_{\frac{1}{r}} x > 0 \rightarrow x < 1 \Rightarrow D_y = (0, 1)$

ب) $y = \frac{\log(\frac{x^2 - x - 2}{x})}{\sqrt{x^2 - 1} + 1} \rightarrow x^2 - x - 2 > 0 \rightarrow \frac{-1 \pm \sqrt{1+4}}{2} = \frac{-1 \pm 2}{2}$

$D_y = (-\infty, -1) \cup (2, +\infty)$

$\log_n^a + \log_n^{\sqrt{n}} = r \rightarrow r \log_n^a + \frac{1}{r \log_n^a} - r = 0 \rightarrow (r \log_n^a)^2 + 1 - r \log_n^a = 0 \rightarrow (r \log_n^a - 1)^2$

$r \log_n^a = 1 \rightarrow \underline{a = r}$

$\log r \approx 0,1r$
 $\log r \approx 0,2r$

$(\log \frac{a}{r})^2 + (\log r)x - \log 10 = 0$

$\rightarrow (\log \frac{a}{r} - \log \frac{r}{1} - \log \frac{r}{1})x^2 + (\log r + \log r)x - (\log 10 - \log r + \log r)$

$\hookrightarrow 0,1r^2 x^2 + 0,2rx - 1,1 = 0$

$S = -\frac{A}{B} \quad P = \frac{C}{B}$

$|\alpha - \beta| = \sqrt{(x+\beta)^2 - 4\alpha\beta} = \sqrt{s^2 - 4p}$

$\sqrt{\frac{4r}{9} + \frac{r^2}{r}} = \sqrt{\frac{16}{9}} = \left[\frac{4}{3}\right]$

$\log_r^v = 1,1 \rightarrow \log_r^v + \log_r^r = 1,1 = \log_r^{11}$

$\log_r^r = 0,1 \rightarrow \log_r^0 = r \rightarrow \log_r^0 + \log_r^r = \log_r^1 = 1$

$\log_{11}^1 = \frac{10}{19}$

$\rightarrow \frac{\log_r^1}{\log_r^{11}} = \frac{1}{1,1} = \frac{10}{11} = \frac{10}{19}$

$\log_r^0 = 1,0 \rightarrow \log_r^0 + \log_r^r = \log_r^{10} = 1,0$

$\log_r^r = 1,4 \rightarrow \log_r^r = \frac{0}{1} \rightarrow \log_r^r + \log_r^r = \log_r^2 = \frac{1}{1}$

$\log_{10}^4 = 5 \rightarrow \frac{\log_{10}^4}{\log_{10}^{10}} = \frac{\frac{1}{10}}{\frac{0}{1}} = \frac{1}{10}$

$$\log_n^n = m \rightarrow \frac{\log_r^n}{\log_r^n} = m \rightarrow \log_r^n = r_m \quad \log_r^n - \log_r^r = \log_r^{r-m} = r \log_r^{r-m} = r_{m-1} \quad -v$$

$$\log_r^{r-m} = \frac{r_{m-1}}{r} \quad \log_r^{r-m} = \frac{\log_r^{r-m}}{\log_r^r} = \frac{\log_r^{r-m} + \log_r^r}{r} = \frac{r_{m-1} + r}{r} = \frac{r_{m-1} + r}{r} = \frac{r_m + r}{r}$$

$$\left(\frac{1}{r}\right)^{r-1} = \left(\frac{1}{r}\right)^{r-1} \rightarrow \left(\frac{1}{r}\right)^{r-1} = \frac{1}{r} \rightarrow r^{r-1} + r - 1 = 0 \rightarrow x \left\{ \begin{array}{l} -1 \\ \frac{1}{r} \end{array} \right.$$

$$\log_n^{r+1} \rightarrow 9r+1 > 0 \rightarrow r > -\frac{1}{9} \rightarrow r = \frac{1}{9} \rightarrow \log_n^r = \log_{\frac{1}{9}}^r = \left[\frac{r}{9} \right]$$

$$\log_r^r = a \rightarrow \log_r^r + \log_r^r = \log_r^4 \rightarrow \frac{r}{r} (\log_r^4) = \log_n^{4r}$$

$$\log_n^b = \frac{r}{r} (1+a) \rightarrow b = 4r$$

$$\log(rb-a) \rightarrow \log_{\frac{1}{r}} = \left[\frac{r}{r} \right]$$

$$-rax^r + bx + \frac{1}{r}c = 0 \rightarrow \frac{1}{\alpha+\beta} = \log^r \quad \alpha+\beta = \frac{b}{ra} \rightarrow \frac{1}{\alpha+\beta} = \frac{ra}{b} = \log^r \rightarrow \frac{b}{a} = r \log_{\frac{1}{r}}^{10} \quad -10$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{c}{a}} = \left(r^{-\frac{1}{2}}\right)^{\frac{c}{a}} \quad \frac{b+c}{r} = a \rightarrow ra = b+c \quad \frac{c}{a} = \frac{ra-b}{a} = r - \frac{b}{a} = r(1 - \log_{\frac{1}{r}}^{10}) = \left(1 - \log_{\frac{1}{r}}^{10}\right)$$

$$\left(\frac{1}{r}\right)^{r \log_{\frac{1}{r}}^r} = \left(\frac{1}{r}\right)^{\frac{r}{r}} \log_{\frac{1}{r}}^r = \left(\frac{1}{r}\right)^{\frac{r}{r}} = r^{-\frac{r}{r}}$$